

☆計算をしよう。

$$\textcircled{1} \frac{2}{4} + \frac{1}{4} =$$

$$\textcircled{2} \frac{2}{6} + \frac{4}{6} =$$

$$\textcircled{3} \frac{9}{7} - \frac{7}{7} =$$

$$\textcircled{4} 1 + \frac{1}{4} =$$

$$\textcircled{5} \frac{2}{5} - \frac{1}{5} =$$

$$\textcircled{6} \frac{3}{8} + \frac{7}{8} =$$

$$\textcircled{7} \frac{3}{4} - \frac{1}{4} =$$

$$\textcircled{8} \frac{7}{9} - \frac{3}{9} =$$

$$\textcircled{9} \frac{4}{10} + \frac{6}{10} =$$

$$\textcircled{10} 1 - \frac{1}{4} =$$

$$\textcircled{11} 1 - \frac{3}{5} =$$

$$\textcircled{12} \frac{3}{6} + \frac{2}{6} =$$

⑬ ジュースがビンに $\frac{1}{5}$ L と $\frac{3}{5}$ L 入っています。
あわせて何 L になりますか？

⑭ ジュースがビンに $\frac{3}{4}$ L あります。 $\frac{2}{4}$ L 飲むと
残りは何 L になりますか？

$$\textcircled{1} \frac{3}{4}$$

$$\textcircled{2} \frac{6}{6} = 1$$

$$\textcircled{3} \frac{2}{7}$$

$$\textcircled{4} \frac{5}{4}$$

$$\textcircled{5} \frac{1}{5}$$

$$\textcircled{6} \frac{10}{8}$$

$$\textcircled{7} \frac{2}{4}$$

$$\textcircled{8} \frac{4}{9}$$

$$\textcircled{9} \frac{10}{10} = 1$$

$$\textcircled{10} \frac{3}{4}$$

$$\textcircled{11} \frac{2}{5}$$

$$\textcircled{12} \frac{5}{6}$$

$$\textcircled{13} \frac{1}{5} + \frac{3}{5} = \frac{4}{5}$$

$$\frac{4}{5} \text{ L}$$

$$\textcircled{14} \frac{3}{4} - \frac{2}{4} = \frac{1}{4}$$

$$\frac{1}{4} \text{ L}$$